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QUESTION: 1
An application developer needs to enable e-mail notification in workspaces in the WebSphere
Commerce development environment.

Which snippet would be appropriate?

A. <ActivateTaskEmail isEmail Enabled="true" from="" cc="" bcc="" language="en_US" />
<RegectTaskEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />
<ApproveTaskGroupEmail isEmail Enabled="true" from="" cc="" bcc="" language="en_US" />

B. <ActivateEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />
<RegectEmail isEmailEnabled="true" from="" cc="" bcc="" language="en _US" />
<ApproveGroupEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />

C. <ActivateTaskEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />
<RgjectTaskEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />
<NotificationTaskEmail isEmail Enabled="true" from="" cc="" bcc="" language="en_US" />

D. <ActivateEmail isEmail Enabled="true" from="" cc="" bcc="" language="en_US" />
<RegectEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />
<NotificationEmail isEmailEnabled="true" from="" cc="" bcc="" language="en_US" />

Answer: A

QUESTION: 2
An application developer needs to write custom business logic to check if the changeable part of
the noun requires modification.

Which approach does the application devel oper need to follow?

A. Create a Java class that extends

AbstractChangeNounPartUsi ngBusinessObj ectM ediatorCmdImpl and implements the
ChangeNounPart interface.

B. Create a Java class that extends BusinessObjectM ediatorCmdimpl and implements the
ChangeNounPartValidation interface.

C. Create a Java class that extends ChangeNounPartUsingBusinessObjectM ediatorCmdIimpl and
implements the ChangeNounPartV alidation interface.

D. Create a Java class that extends ChangeNounPartUsingBusinessObjectM ediatorCmdimpl and
implements the ChangeNounPart interface.

Answer: A
QUESTION: 3
An application developer notices that the agent_data |ocation does not contain copied data.

What behavior can the application developer expect during a silent installation using the IBM
Installation Manager?
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The IBM Installation Manager:
A. failsto execute.
B. creates anew agent_data |ocation.
C. copiesthe datato the agent_data location.
D. failsto detect previous Rational Application Developer installations.
Answer: D
QUESTION: 4
An application developer needs to define the store level action mapping to specify atarget JSPfile
which will format Atom feeds for WebSphere Commerce Web services. Where:

ShowCatalogGroupDataAreaTypeisthe name of the SDO for the noun.
SerializeCatalogGroupM adisonsAtom.jsp isthe feed formatting JSP file.

What should be the action mapping in the struts-extension.xml file?

A. <action path="/ShowCatalogGroupDataAreal ypeAtom/0"
forward="/atom/Store/SerializeCatal ogGroupM adisonsAtom.jsp"/>

B. <action path="/ShowCatal ogGroupDataAreaTl ypeAtom/<store |d>"
forward="/atom/Store/SerializeCatal ogGroupM adisonsAtom.jsp"/>

C. <action path="/ShowCatalogGroupDataAreaTlype/0"
forward="/Rest/WebContent/atom/Store/ SerializeCatal ogGroupM adi sonsAtom.jsp" />

D. <action path="/ShowCatal ogGroupDataArealype/<store |d>"
forward="/Rest/WebContent/atom/Store/ SerializeCatal ogGroupM adisonsAtom.jsp"'/>

Answer: B

QUESTION: 5

What file does the application devel oper need to examine first to confirm the successful
installation of WebSphere Commerce Developer?

A. setup.log

B. SystemOut.log

C. setdbtype.log

D. wc-server.xml

Answer: A

QUESTION: 6

In order to enable a WebSphere Commerce store with Web 2.0 features, the application devel oper
must define elementsin the JSP files.

These elements include which of the following? (Select two.)
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A. Context controller
B. Refresh areas

C. Refresh controllers
D. Refresh redirectors
E. Refresh responders

Answer: B, C

QUESTION: 7

When publishing the migrated application in WebSphere Commerce Devel oper, an application
developer notices that the publishing fails and an exception similar to the following example
OCCuUrs.

[L/7F00 Z4:32431:125 PST] 00000064 Commercefrve A WesApp initPolicyManager CMHOC0TE: Inikcrslisstion has starkbed for
"Policy Managez™.

[1/7/10 14:35:50:73% PS5T] 000DODOGE Sy=kemBrr B Excesption in thread "LT=0:pP=510158:0=0:poct=5100"

Jovn . Lang, outOfMewoeyEr vor

[1+7/10 14:36:21:156 PST] ODOODOGE SyatewZrr R at jave.net. PlainfocketImpl.socketaccept (Natilve Method)

[1/7/710 214:36:23:187 PST] 0000O006f SyaktewErr R &t jsva.net,.PlaindockebImpl,sccept [PlaindockebTmpl, Jawa: 414
[LA7FL0 24:36:26:281 PST] 000CO006E ZyskemBrr R at java.net, Secverdockeb. impliccepl (Serverdocket . java: 462

[1/0F10 14:36:35:015 PST] 00000069 Commerce=Srve E PolicyManagecProvidsr getbInstance CHN020292: The following =crorc
accurted during processang: "java. lang.veflect. InvocataonTargetExceptaon™.

[147710 19:36:37:000 P5T] 00000064 Commercesrve E WMesApp initPoliopMonager CMBOL12E: The following error has been
detected while initializing "Inztence,PolicyManscerclassams":

jawa. lang.reflect, InvocationTargetExcepbion, Java. Lang. ref lect . Invocst ionTar e bEX capt ion

ak sun.ceflect. MativeMebhodicces=orInpl, invokel (Nakive Method)

at sun.reflect. BativeMethodiccessorInpl. invoke |[HataiveM=thodbcoce=sorImpl. Javaz 19|

ot aun.eefleat. belegataingMechodicoessor Dmpl, anvoke | PelegatangMethodAnoesaarInpl. Javar17]

at jave.lanyg, reflect,Methed, 1ovoke (Method. jasras 3590

at cow. ik, commerce, accezscontrol. policmanager , FolicyManagesProvider . get Inatance |PolicyManager Peovider . Jsorat 79)
ab com. ibm. commecce ., server  desApp. initPolicyManager (Woshpp . java: 506}

<rors mrror Lline=>

The exception that the application developer should focus on first is the:

A. ServerSocket exception.

B. Access Control exception.

C. InvocationTarget exception.

D. OutOfMemoryError exception.

Answer: D

QUESTION: 8

The IBM Sales Center uses SOAP over HTTP messaging protocol to communicate with the
WebSphere Commerce Server. The request handler prepares a Business Object Document (BOD)
and sends it to the WebSphere Commerce server.

What is the next step to process this request?

A. The message mapper invokes a WebSphere Commerce BOD command.

B. The message mapper invokes a WebSphere Commerce controller command.

C. The message mapper maps the BOD to a WebSphere Commerce BOD command.

D. The message mapper maps the BOD to a WebSphere Commerce response builder command.

Answer: C
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QUESTION: 9
An application developer wants to develop new commands and refers to the Information Center
documentation to understand how the commands and tasks are mapped to the table.

Under which section would this information be found?

A. Reference

B. Tutorias

C. Developing

D. IBM Education Assistant

Answer: A

QUESTION: 10
After running the data load utility, the application devel oper notices an error similar to the
following:

An error occarred while atierpting (o populate the 1able ITEMSFC because e mandatory parameier ParentProductidentfer was missing

The 1D was nol resobad 1or e aole ITEMSPC with the unigue index data [DL_PROD1T_SKUW1, TO00000000000000054]
Stack trace:
com. tbm.commeroe . foundation. dataload. sxception. IataloadhpplicationBxeeption: The ID was nok resolved for the
table ITEMSPC with the unigue aipdex data [PL PRODI SHUL, TOO02000000000000549] .

at
e, Akm. commar ce  foundarion. datalead., idresslve, IDPesolverForOnaeTable  razolveld | IDRaselverFardaaTab la, Java: 236

at com_ibm_commerce foundstion.dabtalosd. idresolve IDRs=clverImpl_ re=oclveld|IlR==sclverImpl. java-:266)

at oom. abm. cormeree . foundation. dataload. husinessobjectwediator . AbatrackBusinesatbjectMediakor  resolve Tds |
AbatractBuainesackhiectMediasar ., Jawa: 1164)

at com. i, commeece. foundat ion, dabaload. businessoh)ecbrediator  AbsbracbBusineaschyactMadiabor . resolve Id [A
b=tractBusin===slbijeckMedzator . Java: 1114])

at oom.dbm. cormerce . anventory.dataload mediator . Ahstract Inventorybediator cresolve ItemSPCId [Abstract Ivvent
oryMediator . Javn: B38)

at com. ibow, comperce., inventory, dabaload, mediator . Invenkbor yReseiptMediacor ., popelateRECEIRT ( Inventor yRaceipt
Mediator . java: 251}

at com.ibm.commerce . inventory.dataload. mediator. InvenboryReceiptMediator. transform | InrentoryReceipeladiat
or . Javn: LE0)

L

Mote: The infarmaton in bold represents wanatle information: T000000000000000054 i3 the member_id, and OL_PRODOY_SKUT is the
patnumozr

What is the cause of the error?

A. Theitemidisincorrect or missing.

B. The unique index constraint is violated.

C. Theinventory value for the product is missing.

D. Theinventory system being used is set to ATP while loading non-ATP data.

Answer: D
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